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AYAN PRAMANIK 22 hours ago
A)1440 km
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Sadanand Vishvanath 22 hours ago
aaa 1440

Aisha praveen 22 hours ago
Sir sorry phle galt ho gaya 1440 is right answer

@y GP  REPLY

v View reply from Mahendras : Online Videos For Govt. Exams
Nidhi Gupta 22 hours ago

1440
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Ankit Kumar 22 hours ago
1440km
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T@nu...& 19 hours ago
Option -(a)
1440 is the rgt answer

fh 2 GR  REPLY

+ View reply from Mahendras : Online Videos For Govt. Exams

sakshi parate 20 hours ago
Meeting time=20, Distance=1440

@y GPF  REPLY

+ View reply from Mahendras : Online Videos For Govt. Exams

er 007 22 hours ago
Total distance 1440 km. Meeting time= 20hr

@y GP  REPLY

+ View reply from Mahendras : Online Videos For Govt. Exams

Soumen Sinha 22 hours ago ﬁh@

1440 Correct \d 1

@y GP  REPLY \ ’
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Tanu Vishwakarma 10 hours ago (edited)
Hw answer-(1440 km)

oy GR REPLY

ARNAB DEBROY 2 hours ago
a)1440

db ©P  REPLY

chinnam ramaiswarya 22 hours ago

1512 is the answer

@y 5P  REPLY

* View reply from Mahendras : Online Videos For Govt.
Rishabh Dev Chaturvedi 22 hours ago
sir right ans. 1440
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Arun Kaiwart 22 hours ago
1440km
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Two trains P & Q start their journey from Delhi & Kanpur respectively towards each
other. When they will cross each other then, train P & Q will take 25 hr. & 16 hr.
respectively to reach their destination. The speed of train Q is 40km/hr. find the
distance between Delhi and Kanpur?

&l TAaMisAT P 3T Q el feeell IR ATqT @ Ueh gHR T 3 37911 ITET E AT &
SIS d Ueh GEY &l YR T ol3fl, e &7 P & Q &I 39el iy deh Ugdel & oIt ShAM: 25
g¢ 31X 16 B¢ THT F9Tcl 5] o7 Q & a1fey 40 foredr / wieT §1 el 3R gy & o= &

RUSISCAIC R
m » a) 1440 km
0)1512 km
c) 1680km
d)1432 km
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A train starts running at a uniform speed of 60 km/h from station P towards station Q. At the
same time another train starts running from station Q towards station P. If the distance
between the station P and Q is 275 km and the trains meet in two and a half hours, then what
IS the speed of the train running towards station P in km/h?

Teh YeTMMST 60 km/h T Teh FATT el § EERAeT P H T Q I 3N Telell Y& il & | I8 AL
Teh qET LelAITST TE2AT Q H TR P T 3R Teladl YE el & ZI%@%HPS?\TQ%@H%ZQ
275 km %@w@n@ma@ﬂ%ﬁw@@ﬁﬁam@mp@rmmmm
grel km/h & T |

(a) 48

01:00 (b) 44
(c) 40

»» (d) 50
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Two cars X and Y start running towards each other from two places 216 km ar.
The ratio of the speeds of X and Y is 5 : 7 and the speed of X is 60 km/h. After how
many minutes will X and Y met each other?

&l P X 3R Y &7 W TATAT F Ueh g8 HT 3R Telell E Il & ol Teh GA I 216 Tohall
S ol X TEIT 81 X 3 Y &I AT T 3191 5:7 & 3R X v ared 60 TohaAT / Ger &1 Fobetet
fAeTC a1e, X 3R Y Teh g@R O fHeldn?

CINE,

01:00 (b) 72
))) (C) 90

(d) 80
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Places A and B are 396 km apart. Train X leaves from A for B and train Y Ieaves from

B for A at the same time on the same day on parallel tracks. Both trains meet after 5 E

hours. The speed of Y is 10 km/h more than that of X. What is the speed (in km/h) of

Y?
TAT AR B 396 Tl QU B I STAX FTAT B F AU qUT A Y I B § A & folv A

¢ X 38T 8T oisar SIar &1 gt get 5 = a%%aﬁﬁ?»l?-ﬁ%*l I X T TellT H 10 el
| geT 3T g Yaﬁr?rﬁr(ﬁﬂﬂ/aaﬁ)w%? (MAINS 2018)

(a) 31

01:00 (b) 54

))) (C) 41
(d) 56
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. . 2 .
To cover a distance of 416km, a train A takes 2 2 hours more than train B. If the speed

of A Is doubled, it would take 1 % hours less than B. What is the 3 speed (in km/hr) of
train A?

416 TohHT T g1 T T H ¢ Aafrac—rrB?rzg’Ei%H@qo 9T & | Iics A T a1y aeeil &t
ST, At a8 B ¥ 1 € & FHY aueit| g7 A v arfey (Rraft / €1 ) aram 82
(MAINS 2018)

(a) 56

01:00 (b) 65

(c) 54
» (d) 52
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To travel 720 km, an EXxpress train takes 6 hours more than Duronto. I,
however, the speed of the Express train is doubled, it takes 2 hours less than
Duronto. The speed of Duronto (in km/hr) is?

720 ToRaY T I el & fAT, TFANH ¢of, g¥cl & 6 T 3 oIdl & BTl
UFEUH & T 317 SNIfAT &, o I olcl & 2 ©¢ A FAY o g1 gIdl & aIfa
(Torefl/erer A7) #3182 (SSC CGL 2018)

a)60
01:00 » b)72
C)66
d)80
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e

A and B are 15 kms apart and when travelling towards each other meet after
half an hour where as they meet two and a half hours later if they travel in the
same direction. The faster of the two travels at the speed of

A3 B, 15 fh. Y. T g TWE| I Ueh g T 3T TeAhT 3T € a1 T ST &,
olfehel Teh €1 f&Rlm # el U @Tg T 16 fHel Ud &1 AEeaR 378 el Telsl dTol
&Y 3T Fa8U? (MAINS 2017)

m (a) 15 km/hr
») (b) 18 km/hr

(c) 10 km/hr

(d) 8 km/hr
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Two cyclists A and B start cycling at 21 km/hr and 24 km / hr towards ‘ech
other. The meet after 1 hour and 12 minutes. How far ( in km ) were they from
each other when they started?

&Y ATSfehel HAR AT B, 21 foh a1, / €eT 3R 24 {571, / €eT 1 arer § veh gl
3R =T R 9 §1 9 1 8¢ 3R 12 TAeTe a1e vh g@r & Aerd §1 51 3egia
oI WIS TohdT AT T 3deh oI 3oTeh oI T 3 (Teoh. Y. &) Fam Ay?

(MAINS 2017)
01:00 b) 42

(b) 42

» (c) 54

(d) 36
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TioN 3
; —
"

Train A and B start at the same time. Train A travels at 55 km/hr from station X
to station Y and train B travels at 80km/hr from station Y to station X. They
cross each other after 1 hour and 36 minutes. What is the distance (in km)
between station X and Y?

¢l A3 B U &I IHT H ¥ 8l el ¢ A TUT X T AU Y deh 55 foh.AT. /
geT 1 1T & AT AT £ IR ST B AT Y A TAS X dF ¥ A 80 AT /
T T I & el ol 9 1 8¢ 3{R 36 TAIC & ST Ueh g@Y &l U hicll & TE2AT
X AR Y & dra gt (oA, 7) a1 527 (MAINS 2017)

m (a) 196
(b) 232

(c) 240

») (d) 216
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Ajit Slngh left from place P at 9.30 a.m. for place Q, and David Raj left pIaceQ
at 1.30 p.m. for place P. The distance between them is 416 km. If Ajit Singh's

speed is 44 km/h and David Raj's speed is 52km/h, then at what time will they
meet each other?

31191 g g 9.30 oo TUT P & TUI Q & fIT Tefell Y& ¥l § 3N 8fds T
2TEUR 1.30 S TUTA Q W TUTA P & oI Tefal Y& YT &1 Iefeh S bl 416
km ¥ T 31fora g i arer 44 km/h & 31K 3R =7 $r arer 52 km/h &,

gEY ¥ fohcel ot fACT?(MAINS 2018)
(a) 4.30 p.m.
m (b) 5 p.m.
(c) 6 p.m.
» (d) 4 p.m.
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Atraln starts at 11:00 am from point A towards point B at 36 kmph while anot er

car starts at 1:00 pm from point B towards at 44 kmph they cover a distance of
592km till meeting. At what time will they meet each other?

Teh ¢ Jag 11:00 ﬁﬁgAﬁ%Bﬁm% fopei Ui & I & glcll &, STeih
44

gﬂ?ﬂ?%@B@HOO q%a%ﬁ%weﬁr%sﬂ?a*éoqmqwgzﬁwﬂ
e TT A §| ohE T 3 Uk gEy & e

(MAINS 2017)

a)8 pm
m b) 6:30 pm
»» c) 7:30 pm
d) 5:30 pm




